Elimination worksheet

Find the intersection of each of the following pairs of lines using Elimination:

1.
2.

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.

Tr+5by =8, -3z + (—2)y=—6
—5x —Ty= -3, —dz+ (—6)y =1
Tr— (—y)=—6, —x — 0y = —6

6r — (—y) = -6, —6x —y =—1
—4z — (=9)y = =8, 20z — 45y = —32
—2x+ (=3)y=5,z—(—y)=—14
=2z + (—=T)y = —12, 2z + 6y = 13
—r— (=Ty=-1,2zx— 16y = —12
—bSr+3y=8z+(—-y)=-1

r+ (=3)y=4, —br+ 16y =17
3r—2y=—11, 2z +2y =3
r—(=2)y=13, —x — 0y =14

—6x — (=T)y = =2, =2z + 2y = 13
—Tx —5y =11, —4x + (-3)y = —13
5z — (—6)y = 5, 25z + 30y = 4

20 — (=5)y = =5, =6 — 14y = —4
—2x—Ty=1,2x+6y =13

—x 46y =—1,2¢x — 13y = —6
—x+ (=Ty =3, —4x — 30y = —13
3r— Ty =11, =z + 12y = —11
—9x +9y =27, -2z — (—2)y =0
—x — (=5)y = -8, =6z + 28y = 8
—r+ (—4)y = =5, =20 — 9y = —6
—z—(-TNy=9, =3z — (—20)y = 11
—7x — 10y =2, 14z — (—20)y = —4
—x—y=—44r+2y =28

r—3y =10, -4z + 14y = 13

28

29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44.
45.
46.
47.
48.
49.
50.
o1.
52.
53.
o4.

20+ (—6)y =4, Tx — 20y = =5

6r — (—T)y=—-2, —Te -8y =14
r—(-3)y=12, —z 4+ (-2)y = —14
—r —5y =10, 3z + 13y = -2
x—8y =05, =br — (—40)y = —25
-3z —(-d)y=—-6, —x+y=—4
—6x +2y =11, —4z — (—y) =8

dr — 2y = —6, 3z + (—y) =3

8r+ (—8)y=0,3x—-3y="7

2z + 5y =12, —bx + (—12)y =5
—4r —2y=8,7Tx — (—=3)y = —6
—x— (=h)y=2, 4z +19y =8
—2r+ Ty = —6, Tx — 25y = —9
—dr+2y=4, —Tx — (-3)y=—7
20 — (—4)y =5, 2z + (-3)y = 12
—6z + (=5)y = =2, =6z + (—5H)y = —6
—x+5y=—4, -4+ 19y =8

T+ 6y =—2, —dx+ (—22)y = —6
-5 —y=—2, —3r —y=—11
Sr+9y = —2, =252 4 (—45)y = 10
—x+Ty=3, -3z —(-19)y =14
204 (—2)y = 14, =2z — (—=3)y = —9
—2r— (-3)y=4, —v+y=11
—x—4y =7, =br+ (—21)y =11
—2r—y=-24r+y=3

2 — (—6)y = —6, —dax — 11y =7

—Tr — (—=6)y =8, —6x + 5y = —3
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25.
96.
57.
28.
29.
60.
61.
62.
63.
64.
65.
66.
67.
68.
69.
70.
71.
72.
73.
74.
75.
76.
77.

x4+ (=3)y =3, =3z + 10y = —11
—6x + (—y) =0, 30x +5y =0

or +3y = -9, —Tr — 4y = —8
—x— (=8)y =2, 2+ (—8)y =20
-2z — (-2)y=—11, =3z +2y =13
r—(—4)y=15 —ox—-3y="7

Tr 4+ 6y = =7, —6x — by = —8

6 — Ty = —11, 2z + (—2)y = —2
—2x — 5y =0, 20 + by = —22

bo — (—8)y = =5, 25z — (—40)y = —25
—10x — (—6)y = —12, 152 — 9y = 18
—6x — (=T)y="7,—Tr+8y=9
-2z — (—y) = —6, —dx +y = -7
—x — 5y = —3, 4o — (—19)y = 12
—x+5y =4, Tr+ (=36)y = —11
—3rx+y=7 —br—(-y) =9
r—(-3)y=-13,2z — (-8)y=7
—Tr+4y =12, 2x+y= -2

2r + 5y = —4, —2x+ (—4)y =15
—2x +4y =13, =5z — (—9)y =5
2x — by = —15, —6x + 16y = 3
r+(—y)=52r—y=13

3r +8y =—5, =9z — 24y =15

78.
79.
80.
81.
82.
83.
84.
85.
36.
87.
88.
89.
90.
91.
92.
93.
94.
95.
96.
97.
98.
99.
100.
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20 —2y=—-8,3x — 2y =1

2t —y=—-11,3z+(—y) =7

—br — (—y) = —6, —Te +y=—4
r—(—6)y=—14, 5z — (-31)y = —4
—x+ (=T)y =10, Tx + 48y =6

dr+ (=H)y=-8, z—y=3
—r—by=-2,z—(-3)y=-13
r—(—y) =12, =3z + (—y) = -5

de —y =5, =Te — (—2)y =2

—2x+ (—2)y=3,3z— (—2)y =10
—2x + 6y =14, =3z — (—8)y =3
3r+by=-8 dr+Ty=-3

—r 45y =14, —dx + 24y = —11
—6x + by =10, Tx — 6y =4
—r— Ty =11, 2z + 13y = 10

r+4y =6, 2x +9y =15

—6x — (—y) = —13, —z — 0y = —15
Trx — Ty =56, —2x + 2y = —13

8r — (—6)y = 14, —do + (—3)y = —7
—4x +3y = —11, 6z + (—5H)y = 14
r+4y =5 —6x+ (—22)y = —15
—8r+ 9y = —1, =24z — (—27)y = —13

—rx+(-2)y=9 z+y=-1
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Solutions:
1. z=14,y = —18
2. x=F, ="
3. x =06,y = —48
4. None. They are par-
allel.
5. None. They are par-
allel.
6. x=-37,y=23
7. ©= %, y=-—1
8. x=50,y=7
9. z = _75, Y= _73
10. z =285,y =27
11. z=-8,y==
12 z=-14,y=7%
13. x—%%,y:—41
14. x =—-98, y =135
15. None. They are par-
allel.
16. =45, y=-19
17. x:%,y:—lll
18. =49, y=38
_ —181 . _ 25
19. =z = 5 L Y=7
20. x =55,y =122
21. None. They are par-
allel.
22, v =—-132, y = —28
23. x=21,y=—-4
24. =103,y =16

25.
26.
27.
28.
29.
30.
31.
32.
33.
34.
35.
36.

37.
38.
39.
40.
41.
42.
43.

44.
45.
46.
47.
48.
49.
50.

The Entire Line
r=0,y=4
r=1Py=%
r=-55,y=-19
r=-82,y="70
z=18, y= -2
z=060,y=-14

The Entire Line

33:%57y:—2
r=06,y=15

None. They are par-
allel.

z=—-169, y = 70

r=06,y=-16
r=-2,y=0
x =213, y =60
r=13,y=28

r==3y=17

None. They are par-
allel.

x =40,y = -7
z=2y=%

o1.
52.
53.
54.
55.
56.
o7.
58.

59.
60.
61.
62.
63.

64.
65.
66.
67.
68.
69.
70.
71.
72.
73.
74.
75.
76.

x:%,yzl

r=12,y= -5
T =58, y =169
r=-3,y=-2

The Entire Line
xr =60, y = —103

None. They are par-
allel.

x:—24,y:%59
r=—-73,y=22
=83, y=-98
r=4,y=5

None. They are par-
allel.

The Entire Line

The Entire Line

r=-T,y=-5
x:%,y:—B
z=3,y=0
r=-89,y=—-17

r=—-1,y=4
= _1225,3/—323
x =20,y =38
r==2y=11

7.

78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

100.
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The Entire Line

r=9,y=13
x =18, y =47
r=—-1,y=-11

z = —410, y = 66

r =522, y=-76

x=23,y=20
r=5y=7%
r=5y=%
r=12, y =43
leS,yz%g
x=47,y =18
r=-41,y =23

x =391, y=281
rz=-80,y=—-94

x =213, y=—32

r=—-6,y=3
rx=15,y =177
None. They are par-

allel.

The Entire Line

r=3 y=5
r=—-25,y= %
None. They are par-

allel.

r="7T,y=—8
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